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B AR SEBR R T o (O FI— AN [ AR 0 52 TE 52 AR N AR L X — 2H 52 1 5% RIS 46 1Y)
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FATHGE  IE 525 5 2 Fe W A A5 5 o e W B2 AR S B2 ARG = A SR T 58 2 E
TIANIERRAE S AAE T IZ W LR S N AS e R 3h . W H L B E S A2
P 5T, 48 4 TE A8 1 B
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FE . AT A G S [ F S A (8 L e e R L e OB B AR L R T
B BN S 5 i B 28 3 (discrete time Fourier transform, DTFT) M Bt RiELL(E S
BRGS0 3l 22 3, SR 05 51 3t 7 IR a0 R0 AT Jald 08 B2 5 {1 %) 5 5 fo PR oo 2 e, D
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3.1.1 ZEEFPESHEEMZE

B () B —ANEZIERAE T CE () = X U X ORI . Qo 2R HH
T=2n/0y A () WMTIF ZAEIELITH M B b A IE LR E Q0 1Y & £, H
BEEEIC R X (kQo) W 2 () PRI Ky

() = D7 X (k) (3.1. D
k=—c0

BAR ORI T Rod ok AT T (3. 1 D 2y FE S (0
18 73 %+ T T 00 ik ) 2 pR BCHT R R O 1 IR 5% . HorP X REIR O Qo 9 IE TR
B R X (20D o R b &5 R AT 2 — B 4 J U145 5+ B R 58 B A 1 1o TR I 2

B (O RE—N WG S LA T, 45 o (OFE—A BN I e R FRAY . J)

T/2 .
J | x(¢) |*dt << oo (3.1.2)
—T/2

T2 FRATADR (o) JE R B8 B (3. 1. DR, 3 X (RS2 B 2850, HAl B
A BRAY . HA

T/2
Xk =+ aered (3.1.3)

T/2

ERRT oOPHE L UGERRIEE . & UV X Qo) ZE W b= —co~co,
P 2 ) B A B 2 20« (3. 1. 1) SRR O 98 O 30 0 B i 9 580 ik b i A = A X0 1
B R DUSCHRC2 TR 13 L AR S BT IE

BIZAR o IF AR — JE {5 5 0 T i B S0 . o RS 5 o (o) J g fe L i 2
B BR T (31 2 AR SRS s 2 (OB T 2 IR Dirichlet 2544
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k245 H T — 2 R85 B Dirichlet £ 40 RAE S B0 . FANTESL R TA/EH
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B 3.1.1 & 3. 1. 1) 22— DR AR 7, AR Bl &2 (3. 1. 2) 30 K Dirichlet 4%
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Ar sin(kQo7/2) _ Ac sinlknfoo)

__ i o/ —ikQt _
X(hQ,) — TLZAe dr = G SEAD — GraneslD (3.15)

X(kQo)E—A B sinc BB WA 3. 1. 1D iR l/H r=0. 2T, T=1,A=5,

x(0)
A
| | 0 | |
=T -T2 1 1t/2 T t
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Il
~ 0 °?% 217 I I 111 9190
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B L1 SR (5 A R
3.1.2 EHZEFEBHESHEEHTHR
(O RE—NEENRES & 2B TF L, a5, B)
J | 2(0) |2dt < oo (3.1.6)
A4 2 () B B AR B AFAE I E XN
X (i) — Joz’x(z‘)eﬂ“’dt (3.1.7)
Ho A e 2
() = ZLJ XG)e™ dn (3.1.8)
) o
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B 5 22996 2 Dirichlet 678, BR 18 2% JE A DXIA] i — D JE 97 JR B — oo~ oo dh L i
A2 ] (1 Dirichlet 46 (9 2 4 J7 vk A48 B 0800 2 — AR Y AL A PR A . Jrp g
(3) MY ZEROK A T LA 9 7 3L B

X 1= || cwemal< [ e ar< e (3.1.9)
B, R o) 3 2 ge X n] BUAS 544, X GO 24 FL 0, lE B 2As e ff 2. BT
E — Jf |20 |2de < Ui |2 | dtT (3.1.10)

P LB (o) S 268 % T B OIR A4 B il — 2 2 J7 DAY o B S ok JF R — JE I

3o BN A

sin(2xt)
e

x () =

S 105 AT B AR R S 4 e T AR 5 — 45 LU B L Dirichlet £ 2 i B A5 e A7
TEM FE53 S5 AF ABJEAR R LB . LT A I BR 115 5 & v] UV 08 Bt A2 4, (R i, 76
SEBR TAE R — A 06 %235 45 1 2% & Dirichlet Z5 44

B13.1.2 A xR0 3. 1.1 BRI AR 5 i — A J5 40 HC A B A 4
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T 2O RBEEES L XGOW IR, BRI A sine pRE. WA 3.1.2 Fias.,

1
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1 T/2 oo ) o
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TiREA
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XTRER AR 55 (o) - FRATTRH [ FE 9 5 32 7T DL

E = L 2 [Pde = %J, | XG) 7d (3.1.16)
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Jieidl — 270(y) (3.1.17)
AT LA B J 0145 0 L AR 4 ) ik 5K
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L AR, AR AR e (Y 95 SR R N PR S Y A B R B . XREL (3.1 18) KL TR
TR L A6 B v 2 5 R0 o8 L AR e 48— AE — A B AE A2 R R AT TS T R
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i bR e FRATAKMERS th AR 2538 - B 33 2 0 JR A5 5 %) 4 B ot A o o A 0 2
BN R .

LIEWMES A T BT I55 Kak, B (3. 1. 18) ZU 4 i By B8 B0 3% 1 28 Bl % 2241
BRI ) 2 JE S A T B — A o S 00 e B e A A {E R B O TR ST R PR B X Y S
br b (3. 1. DRy HE G 5 i Bk A8 e, i AT AT A5 1 50 — A58 I S S
A A JE A 5 A Ao R I S A AR b A 2 Y AR R Y

EHTEAR KAMGS 5 RGEWHEEH (BN, 7% SCH[2.8, 13 D) AR AT & 24 ¢ % 2
R [B] {5 5 fo L ik 2 4 5 o R I B0 TR AR B S 7 X ARG — 2P e . R AL S
JUAS 8 A 015 = (e B o A do 1) 451 1

(1) A IEX
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(2) SEIEBX

(1) = sinQpt = [ — ' ]/12 &
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(3) LR

(1) = cosdot = [+ ]/2 S

XG) = x[6Q+ Q) +6(2—0,)] (3.1.2D
(L) HIERES

x(t) = 2 et & X3GR) = 2« Z 0 —kODy) (3.1.22)
p=—co p=—oco

Kb S 000 — k2, R e B

(5) Mgk wh i B F 41
HEEH LD HFLEPN T A

P = 2 0(t—nT) (3.1.23)
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p) = 2 o(t—nT) = E P(kQ,) e !
n=—co P

Horp i B R4
P(kQ,) = ijm Sty Hrdr = X (3.1.24)
0 T —T/2 ¢ T ' ’
TREA
2 ot —nT) = — E ety 0, = 2x/T (3.1.25)
B (3. 125 sRA G L. DAL A
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3.2.1 DIFTHIENX

B hCn) g —A> LSTRGERY AL AR IR Ll 1.7 739 FRATTAT SR MG 12 28 8 003 25 i 7
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U B 0P 900 0 L ) DTFT. (%5 1 35 55 2 820036 o 0. H (o) Ji
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